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Hs and time of meridian transit

Observación 

Astro

t, Hs, Z

Least squares fitting
Hs = a0+a1*t+a2*t2

Maximum (upper transit):

t Hmax = -a1/(2a2)

Hs max = a0-a2t2

Minimum (lower transit):

Position

  B( t mt ) = f( Dec, Ho, culmination, transit )

  L( t mt ) = f( GHA, transit)

Motion
R, V

Derivatives

dB/dt dL/dt

dDec/dt  dGHA/dt

  dLHA/dt

H meridian transit

Hs = Hs( t mt )

Ho

Time of meridian transit

t(mt) = t(Hmax) + Δt



Latitud por altura circunmeridiana

Almanaque Náutico
Dec GHA

Observación circunmeridiana 

Fecha, UT1
Astro

Hs

Tránsito

Culminación Z

Altura Observada
Ho

a = 1.9635*COS( B )*COS( dec )/SIN( B-dec )

LHA  t

PMS: Hm = Hcm + |a|t2

PMI:   Hm = Hcm - |a|t
2

Meridiana
B( t mt ) = f( Dec, Ho, culmination, transit )

Posición
Be, L




